R E6S(FEIEHR)
NEKHE £ A H
HYE I%EE

1E X B 5 TKek5%2-3%

2 18 il KB FEER

3F x A ERRRICHSEKEMRELISE
4 15 AT ABRTEMETTT BithA

5R M X & A Rimax E T (#%)

KES i I & I8 28 RiRAT4—57
TEFRRDRNEEE 47914900 M

(B8 ( 45,089,000 M )
8 T HA SH5ETR 128 ~ SH6FE1831H

(&% ¥ T 8D (  HM5ETA12H ~ FH6FE1H31H )

0 1% = BEKERZRETIS
DIP ¢ 150 % T L=203.8m (4£4-251)
DIPG 100 HET L= 8.7m({t1)
DIP¢ 75EHERT L=148.8m({£2)
G 15088 RRZET L= 44.Tm(+2-2E1)
WMKEBEUIBI N=16EAT
T N=1=
HARRRET N=1E 7R

10 EEARKRVEEEH
1 EEKEMBRI (DIP(GX) @ 100) [ISDNT, IBRYDMEMNEFRIABTEEZEENAHY ., B FELTLV:
gi&ft@ﬁ%ﬁ%ﬁﬁfd)%ﬁﬁ%@t&x XEMHETIET HESBEEHRL. e THAIREBR
D,
2 HRKEREYBIICOVT,. BEKEMRUEDEERICHWMAKEEREZEZET S0,



